

# District School Board of Pasco County

## Bid Recommendation

<b>Bid Title</b>	Sound System Parts Maintenance Department		<b>Number of Vendors Notified</b>	211
<b>Bid Number</b>	06-123-LR		<b>Number of Bids Distributed</b>	29
<b>Date Solicited</b>	January 23, 2006		<b>Number of Vendors Responding</b>	5
<b>Date Opened</b>	February 13, 2006		<b>Number of Vendors Not Bidding</b>	0
<b>Date Board Presentation</b>	March 7, 2006		<b>Number of Vendors Bidding</b>	5
<b>Total Savings</b>	<b>\$4,497.82</b>		<b>Grand Total of Bid</b>	\$42,593.25

**Recommendation:**

Recommend acceptance of bid from Crest AV Electronics, Inc., as noted on the attached bid tabulation sheet, as lowest and best, responsive and responsible “all-or-none” bid meeting written specifications.

**Term of Contract:**

This bid is for sound system parts “as needed” by the Maintenance Department for use throughout the District. This is a three-year contract, renewable annually, based upon mutual agreement of both parties. The first year of this contract shall be effective from March 8, 2006 to February 21 2007.

**Notations and Exceptions:**

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

**Bids Evaluated By:**

Dave Beals, Crew Chief, Maintenance Department

**Bids Prepared By:**

Laurie Roberts, CPPB, Buyer, Purchasing Department

**Reviewed and Authorized By:**

Kendra Goodman, CPPB, Purchasing Agent

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: February 13, 2006 @ 2:30			Crest AV Electronics Inc.		Hi-Tech Import-Export Corp.	
BID TITLE: Sound System Parts - Maintenance Dept.			1570 Main St.		1101 W. McNab Road	
BID # 06-123-LR			Buffalo, NY 14209		Pompano Beach, FL 33069	
<b>**Board Meeting 3/7/06**</b>						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SS-1	15	Bogen Vector V150 amplifier or equal	\$349.98	\$5,249.70	\$449.00	\$6,735.00
		Manufacturer/Product #	Bogen / V150		Bogen / V150	
SS-2	15	Bogen Vector V60 amplifier or equal	\$292.98	\$4,394.70	\$364.00	\$5,460.00
		Manufacturer/Product #	Bogen / V60		Bogen / V60	
SS-3	25	Bogen MIC1S microphone paging module or equal	\$47.98	\$1,199.50	\$59.75	\$1,493.75
		Manufacturer/Product #	Bogen / MIC1S		Bogen / MIC1S	
SS-4	25	Bogen TNG1S tone generator module or equal	\$44.98	\$1,124.50	\$55.41	<b>831.15*</b>
		Manufacturer/Product #	Bogen / TNG1S		Bogen / TNG1S	
SS-5	25	Bogen TEL1S telephone paging module or equal	\$40.49	\$1,012.25	\$51.16	\$1,279.00
		Manufacturer/Product #	Bogen / TEL1S		Bogen / TE1S	
SS-6	15	Bogen MBS-1000 microphone or equal	\$95.98	\$1,439.70	\$120.00	\$1,800.00
		Manufacturer/Product #	Bogen / MBS-1000		Bogen MBS-1000	
SS-7	50	Atlas/Soundolier AP-15T 15-watt/70-volt paging loudspeaker or equal	\$49.50	\$2,475.00	\$70.50	\$3,525.00
		Manufacturer/Product #	Atlas Soundolier / AP-15T		Atlas / AP-15T	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: February 13, 2006 @ 2:30			Lee Hartman & Sons, Inc.		Long's Electronics	
BID TITLE: Sound System Parts - Maintenance Dept.			3236 Cove Rd. NW		2630 5th Ave. So.	
BID # 06-123-LR			Roanoke, VA 24017		Irondale, AL 35210	
<b>**Board Meeting 3/7/06**</b>						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SS-1	15	Bogen Vector V150 amplifier or equal	\$359.00	\$5,385.00	\$375.00	\$5,625.00
		Manufacturer/Product #	Bogen / V150		Bogen / V150	
SS-2	15	Bogen Vector V60 amplifier or equal	\$298.00	\$4,470.00	\$315.00	\$4,725.00
		Manufacturer/Product #	Bogen / V-6		Bogen / V60	
SS-3	25	Bogen MIC1S microphone paging module or equal	\$54.70	\$1,367.50	\$53.00	\$1,325.00
		Manufacturer/Product #	Bogen / MIC1S		Bogen / MIC1S	
SS-4	25	Bogen TNG1S tone generator module or equal	\$50.90	\$1,272.50	\$49.00	\$1,225.00
		Manufacturer/Product #	Bogen / TNG1S		Bogen / TNG1S	
SS-5	25	Bogen TEL1S telephone paging module or equal	\$46.10	\$1,152.50	\$45.00	\$1,125.00
		Manufacturer/Product #	Bogen / TEL1S		Bogen / TEL1S	
SS-6	15	Bogen MBS-1000 microphone or equal	\$104.00	\$1,560.00	\$104.00	\$1,560.00
		Manufacturer/Product #	Bogen / MBS-1000A		Bogen / MBS1000	
SS-7	50	Atlas/Soundolier AP-15T 15-watt/70-volt paging loudspeaker or equal	\$63.00	\$3,150.00	\$72.00	<b>\$1,800.00*</b>
		Manufacturer/Product #	Atlas / AP-15T		Atlas / AP15T	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: February 13, 2006 @ 2:30			Valiant IMC	
BID TITLE: Sound System Parts - Maintenance Dept.			55 Ruta Court	
BID # 06-123-LR			So. Hackensack, NJ 07606	
<b>**Board Meeting 3/7/06**</b>				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE
SS-1	15	Bogen Vector V150 amplifier or equal	\$404.46	\$6,066.90
		Manufacturer/Product #	Bogen / V150	
SS-2	15	Bogen Vector V60 amplifier or equal	\$339.74	\$5,096.10
		Manufacturer/Product #	Bogen / V60	
SS-3	25	Bogen MIC1S microphone paging module or equal	\$55.03	\$1,375.75
		Manufacturer/Product #	Bogen / MIS1S	
SS-4	25	Bogen TNG1S tone generator module or equal	\$50.90	\$1,272.50
		Manufacturer/Product #	Bogen / TNG1S	
SS-5	25	Bogen TEL1S telephone paging module or equal	\$46.72	\$1,168.00
		Manufacturer/Product #	Bogen / TEL1S	
SS-6	15	Bogen MBS-1000 microphone or equal	\$111.03	\$1,665.45
		Manufacturer/Product #	Bogen / MBS1000A	
SS-7	50	Atlas/Soundolier AP-15T 15-watt/70-volt paging loudspeaker or equal	\$59.38	\$2,969.00
		Manufacturer/Product #	Atlas / AP-15T	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: February 13, 2006 @ 2:30			Crest AV Electronics Inc.		Hi-Tech Import-Export Corp.	
BID TITLE: Sound System Parts - Maintenance Dept.			1570 Main St.		1101 W. McNab Road	
BID # 06-123-LR			Buffalo, NY 14209		Pompano Beach, FL 33069	
<b>**Board Meeting 3/7/06**</b>						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SS-8	25	Atlas/Soundolier AP-30T 30-watt/70-volt paging loudspeaker or equal	\$59.98	\$1,499.50	\$78.95	\$1,973.75
		Manufacturer/Product #	Atlas Soundolier / AP-30T		Atlas / AP-30T	
SS-9	25	Atlas/Soundolier WT-30T paging horn or equal	\$161.98	\$4,049.50	\$209.57	\$5,239.25
		Manufacturer/Product #	Atlas Soundolier / WT-30T		Atlas / WT30T	
SS-10	20	Fender P-250 Portable P/A system W/#069-1205-00X Wireless microphone (transmitter and receiver) or equal	\$732.98	\$14,659.60	\$949.00	\$18,980.00
		Manufacturer/Product #	Fender / P-250 / 069-1205-00X		Fender / P-250	
SS-11	25	Bogen PRS48 Power Supply or equal	\$41.98	\$1,049.50	\$53.50	\$1,337.50
		Manufacturer/Product #	Bogen / PRS48		Bogen / PRS48	
SS-12	10	Bogen Vector V250 amplifier or equal	\$443.98	\$4,439.80	\$599.00	\$5,990.00
		Manufacturer/Product #	Bogen / V250		Bogen / V250	
		<b>ALL-OR-NONE GRAND TOTAL FOR ALL ITEMS</b>	<b>\$42,593.25</b>		<b>\$55,198.50</b>	
		<b>*Addition Errors</b>				

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: February 13, 2006 @ 2:30			Lee Hartman & Sons, Inc.		Long's Electronics	
BID TITLE: Sound System Parts - Maintenance Dept.			3236 Cove Rd. NW		2630 5th Ave. So.	
BID # 06-123-LR			Roanoke, VA 24017		Irondale, AL 35210	
<b>**Board Meeting 3/7/06**</b>						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SS-8	25	Atlas/Soundolier AP-30T 30-watt/70-volt paging loudspeaker or equal	\$74.00	\$1,850.00	\$84.00	\$2,100.00
		Manufacturer/Product #	Atlas / AP-30T		Atlas / AP30T	
SS-9	25	Atlas/Soundolier WT-30T paging horn or equal	\$188.00	\$4,700.00	\$213.00	\$5,325.00
		Manufacturer/Product #	Atlas / WT-30T		Atlas / WT30T	
SS-10	20	Fender P-250 Portable P/A system W/#069-1205-00X Wireless microphone (transmitter and receiver) or equal	\$722.00	\$14,440.00	\$751.00	\$15,020.00
		Manufacturer/Product #	Fender / P250/069-1205-00X		Fender / P250 / 069120500X	
SS-11	25	Bogen PRS48 Power Supply or equal	\$49.00	\$1,225.00	\$47.00	\$1,175.00
		Manufacturer/Product #	Bogen / PRS48		Bogen / PRS48	
SS-12	10	Bogen Vector V250 amplifier or equal	\$458.00	\$4,580.00	\$495.00	\$4,950.00
		Manufacturer/Product #	Bogen / V250		Bogen / V250	
		<b>ALL-OR-NONE GRAND TOTAL FOR ALL ITEMS</b>	<b>\$45,152.50</b>		<b>\$45,955.00*</b>	
		<b>*Addition Errors</b>				

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: February 13, 2006 @ 2:30			Valiant IMC	
BID TITLE: Sound System Parts - Maintenance Dept.			55 Ruta Court	
BID # 06-123-LR			So. Hackensack, NJ 07606	
<b>**Board Meeting 3/7/06**</b>				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE
SS-8	25	Atlas/Soundolier AP-30T 30-watt/70-volt paging loudspeaker or equal	\$72.11	\$1,802.75
		Manufacturer/Product #	Atlas / AP-30T	
SS-9	25	Atlas/Soundolier WT-30T paging horn or equal	\$189.44	\$4,736.00
		Manufacturer/Product #	Atlas / WT-30T	
SS-10	20	Fender P-250 Portable P/A system W/#069-1205-00X Wireless microphone (transmitter and receiver) or equal	\$703.87	\$14,077.40
		Manufacturer/Product #	Fender / P-250W/069-1205-000X	
SS-11	25	Bogen PRS48 Power Supply or equal	\$48.13	\$1,203.25
		Manufacturer/Product #	Bogen / PRS48	
SS-12	10	Bogen Vector V250 amplifier or equal	\$512.30	\$5,123.00
		Manufacturer/Product #	Bogen / V250	
		<b>ALL-OR-NONE GRAND TOTAL FOR ALL ITEMS</b>	<b>\$46,556.10</b>	
		<b>*Addition Errors</b>		